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Match the following :

fa) Krebs cycle ' 1. Occurs in cytoplasm

(b) . Ubiquinone 2. Diffuse from cytoplasm to mitochondria
(¢) Glyeolysis 3. Mobile carrier

(d) Acetyl-CoA. 4, Occurs in mitochondrial matrix

a) () (©) (d)

(
d 4 3 1 2

B) 3 1 4 2
© 1 4 2 3
™ 4 1 3 2
Qummsss :
(a) dguspnd 1. s GLrbammssdle men Gumib
®)  wsEuiemer 2.7 ape CLmGemmssSed g et CLTemamg Awimeée
L& D
(c) denarsGamailelen 3.  pamb Caflwrser
(d) | el genemr aranenevid 7 4. enwl GLrsmangNwreder Gl Méen L@dulled
| | BenL_GlLmib
() (b) (©) (d)
A 4 3 1 . 2
®B 3 1 4 2
€ 1 4 2 3
® 4 1 3 2
é - GS0811
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The purines present in nucleic acids are :
I Adenine and Cytosine
1I1. Guanine and Thymine
III.  Adenine and Guanine

IV.  Cytosine and Uracil

@ v G m © T
Blursells sflawmsafan aramiu@on Ly farsar

I <3iigenerer HMID ena GLmlewr

II.  @eurafer HmIbD ansLlen

III.  =qmere bHmb @eureaien

IV.  aneGLrflen bHmd wipmdled

A IV B) I ©) II

Find out the correct match/es :

1. Enzymes - Biological catalysts

II. DNA — Nucleic acid

ITI. Insulin - Hormone

IV. Vitamin'E - Water soluble vitamin

(4) IlLonly (B) Ionly

©) LTlandIv & L 1landII

gmumesr GummsssSanand/ ILamsugamer saTLls.

L Apmdser - o Wifw diflwr earsflaer

II. g.remer - Bluysafls lleb

III. @eénsedan - ennGomer

IV. ealcflarE - ﬁrﬂw SeLb ereul_LiSlgr

A) I wl@o '(B) I b @b

(©) L IIopgw IV D) I, IT whmbo T
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8. Choose the correct answer :
The itai-itai disease of Japan was caused due to
L Arsenie pollution
- IL Cyanide pollution
II1. Cadmium pollution
Iv. Lead pollution

(A) TandlII (B) 1II and III d I11 only (D) IVonly
- stlwmar eflen HHE

syliumedtler @il mi - @hlimi Grml 2 (meunsss A @ smyenid

L reails raur

II. MFUIENET LTSI

III. s 1fwib wreur®

IV.  Qel (rwib) wrsur@

A Twopmo I (B) MuwpmnbIll  (C) I w @ D) "IV LG

9. Match the following :
(a) Sericulture
(b) Horticulture
(¢) Aquaculture
(d) Apiculture

Farming of aquatic organisms
Culture of honey bees

Rearing of silk worms

Ll

Cultivation and maintaining gardens

(b) () (d)

(a)
A 3
2

4 1 2

(B) 3 4 1
©) 1 2 3 4
Dy 4 3 2 1
QUMBE S| -
(a) <Qefadser 1. freump 2 uftflear eueniiy
(b)  eprig&0eT L Gaafl euemmiiy
(©) deuTaREST 3. UL By eueTiiyy
(d) e 9asar 4. Carl L_gamay

@ ®» © @
(A 3 4 1 2
B) 2 23 4 1
€ 1 2 3 4
@™ 4 3 2 1
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20.

21.

1.
@ 4 3
3

Which of the following were among the main exports of Indus valley people. Select the
correct answer from the codes given below :

I . Wheat

1L Barley

III.  Cotton

IV. Gold

(A) I, IIandIII (B) II and III M ITand II D)) III and IV

Spg #oeeft wisalldar wpefu ghmiodl Gurr@ma;mm Spsaam_ GHUEsET apeatd sflurar
cllenLenwts Carpllshas. :

1. Cargleno

1L uimiradl

I, umsd

IV.  shsbd ‘

@) LIwpmo II B) I wpgbd I (©) TwpmwIl (D) III npmid IV

- Match List [ with List II correctly and select answer :

List I Last 11
(a) Santhal’s Rebellion 1 1923
(b) Maplah Rebellion 2 1929
(¢) Vizag Revolution 3. 1921
(d) Bardoli Satyagraha 4 1855

(@) (b (© (D)
@ 1 3
B _ 4

R B
NI R

D) 2

ulligwe Ipul g I o 1 et Qumpsd sflwmer slan_enu CoTHESMH -

ugured I uiguieo I1
(a)  FTEsO&ET D 1 1923
(b) LTl FwsD 2 1929
() eeusTs gawsld 3. 1921
(d) uiGsred ssflumdlrsid 4 1855
() (b) (c) (d)
@A 1 3 2 4
®B 4 1 2 3
© 4 3 1 2
D) 2 3 1 4
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Match List I with List II correctly and select answer :

List I List II
{a) Dupleix 1. Nawab of Bengal
(b) Anwar-ud-din 2. British Admiral
(c) Shuja-ud-Daﬁla 3. Frehch Governor
(d) Polock 4, Nawab of Carnatic

(a) (b) (c) {d)

A 3 2 4 1
B 1 2 3 4
(J 3 | 4 1 2
O 1 3 4 2

Ll g wied - ull.Lq_ﬁ_le'u 1l 2 e Qurmad sflwirer eflen_snt Gaifb6 5 -

Ul igwied I uLﬁ.mé} II
(a) @UGer 1. GUERI &6 el m
(b) &Gifreurr@;ﬁlciﬂ 2. prdelumL sarud
© TesY9mres Qg,mgurr 3. N} rgna SeuTeanit
(d)  CurGears 4. FTeTL_& Beurd

(a) (b) (c) (d)

A 3 2 4 1
B) 1 2 3 4
(C) 3 4 1 2

o) 1 3 4 2
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GS0811
[Turn over



23. Match List I with List IT of the following with suitable options :

Ul iquwied I efmig uilgwe IT g Gunmgdl sfwren ellen_anwig Gab6sH.

List I
(a) Kural
{b) Thutham
(¢ Kaikilai
(d) Vwuzhai
(a) (b)
2 1
@ 1 2
) 1 3
O 4 2
U iguied I
(@) @per
(b) gz
{c) ovadlener
d) =pens
(a) (b)
Ay 2 1
B) 1 .
© 1 3
D) 4 2

(c)
4
3
2
3

€ b O

T~
L

~_
A ACR S

List IT

Rishabham
Shadjam
Madhyamam
Gandharam

U iguted 11
MegLLb
FTHHID
gHwmold
SMESTILD

24. Match List I with List II of the following with s_;uitable options :

List I
(a) DBrahmanas
(b) Sama veda
(¢) Aranyakas
(d) Yajur Veda

(a) ®)
A) 4 3
3 4
Ba 5 1
(D) 1 2

(V)
1
1
4
3

(

SRRRE @R

JLiast 11

Forest Texts

Guide Book for Priests
Ritual Texts

Book of Chants

Uliquwied T emba Ll igwied IT s Qummssis

Ui wied I
(a) Hdymoewriser
M) &mw Ceaugld
(c)  SpremTnIS6T
(d) weyer Geugld

(a) (b)
A) 4 3
@) 3 4
€) 3 1
D 1 2

GS0811
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25.

- 26.

27.

Which of the following is/are not correct?
Minto-Morley reforms of 1909 introduced the following.

L
II.

IIL

IV.
(A)
(©)

The system of direct election was introduced in provinces
The act did not enfranchise women
It introduced dyarchy in provinces

Communal electorate was introduced

I only w I and III

II and II1 (D) III only

& @PuELLmeusafld gaummemeupenm @Ml (His.

1909-1b e WlenGLT -Lomiedl STl psamiser & GHILSLL ST mishisaner 2HlapaliuhEws.

I
IL

III.

IV.
(G
(©

Gy Cainse (pepmepw mblemsalla gnu@ssiug
QuearaErég e Biflan Car@aseildamen

@rlenL =, SHenw orlomigatle gnubhssug)

au@GUY eumy GaTged (pepment Siplapsliu(paslug
I ol (o : B) [ wpmw T vl Ho

1T wigb [T @i @) I w_Go

Who bestowed the title Sardar on Vallabhai Patel?

(A)

Dadabhai Naoroji (B) Jawaharlal Nehru
« Mahatma Gandhi (I Rajendra Prasad

cuvaIUIml UG e &@ FTgmT eTamm LIL L LD (@ g Lieur wimr?

(A)
(C)

gramumi QperGrma)

LDETHLOM ST ) (D) @Urr@gg.r_bgﬁh;r Ygams

During 1857 revolt which army remained loyal to the British?

(B ggmgn)ﬁeﬁneb Gmen

(A) Bombay Army (B) Bengal Army
'd Madras Army (D) Avadh Army
1857-1b <2pei(® Lyl Sullan Gug) EdCawmée slsarsnns Bmbs Gumened g ?
(A)  ubumi Grremiedd (B) euhismer @rremiaLd '
(C) Qeanana G)ymamieuld (D) @?Gu_lrrgﬁ @ rrameud
13
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28. Pick out the wrong statement.
(A) Veerappa, the Zamindar of Koppal rose against the Nizam of Hyderabad in 1819 -
(B) Gadkaris were military classes who garrisoned Maratha forts -
(C)  Chakra Bisoi was the khonds leader
d Sindhu and Kanhu were the leaders of the Kols
SEUDNET Fa MDD FL g S&HTL_L LD, ]
(A)  1819-& Gamiiume Grmev mullensT Syl eraUe T angrTUTE Horupsg ardime Harréd
QFigmT
(B) srismflgdr wyrsdws Camlanl & &TeaiaeT ,eumTHer
(C) wsap ISICS_e;rrLJJ eTeTLIGUT Ga;rrsoiﬂ@a;aﬂebr‘gcmeueu-r'r Y EUITIT

(D)  Apsanc wHmin seaan® erareurser Caraaafler seanaagreumigar

29. Match the following :

(a) Simon Commiasion 1. 1928

(b) Nehru Report 2. 1932

(¢) Second Round Table Conference 3. 1927

(d) Communal Award 4. 1931
@ (c) (d)

A 1 4 3 2

o 3 1 L\

© 3 1 2 4

(D) 2 4 1 3

SLpgemelnenn QuThss)s. )

(a)  emawen @y 1. 1928

(b) Crwm sidlems 2. 1932

(¢ @oer_meugl el L Goensy wrBT(H 3. 1927

(D aueuy enfls Srey 4, 1931

(a) (b) (©) (D)

@A 1 4 3 2
B) 3 1 4 2
(© 3 1 2 4
®») 2 4 1 3

GS0811 14 ' ®









33.

34.

35.

36.

37.

0.728x0.728 -0.272x0.272

Simplify :
Py 0.456
(4) 0456 o 1 € 0.728 ®) 0272
iy, 0728%0.728 -0.272x0.272
GO 0.456
(A 0.456 B) 1 (©) 0.728 @) 0272
Ifizé,th n 5x + 2y is equal tol
y b bx -2y

2 5
@ 3 o 5 © 2 o 2
§=§— eraafleh gitgz CTGTLIG| ETHD & FLOLD

2 5
A 3 B) 5 (C) B (D) o

A person’s present age is two-fifth of the age of his mother. After 8 years, he will be one half
of the age of his mother. How old is the mother at present? '

@) 42 W w0 ©) 45 D) 48
e sufer HCUTaNSW 6uwig) eul sTwimtsr euwiflad sopHd Qram() wLkisns 2 dengl. 8 eu(HLRisET
&858 sieuflen suwig), sieu gmurfler auwtfer Lirdluing o_ererg). gmurien sHEUTMSW GUWIF) cTeme?

(A) 42 (B) 40 ) 45 (D) 48

1.2x1.2x1.2-02x0.2x0.2
1.2x1.2+1.2x02+0.2x0.2

A b 1.2 @ 1 © 02 D) 1.4

1.2x1.2x1.2-0.2x0.2x0.2
1.2x1.2+1.2x0.2+0.2x0.2

A 1.2 B) 1 (Cy 0.2 D)y 1.4

Find the v-alue of

—eir LS Smest

A bicycle marked at Rs. 1,500 is sold for Rs. 1,350. What is the percentage of discount?

@ 12 ®) 15 © 1 & 10

e Wfeuamguilen eflame . 1,500 eremm @Hssiiul (Hearerg. @gamer qp. 1,350 &g elpmme,
FeT@EHLIY FHEISHLD eTenen?

A) 12 B) 15 € 11 (D) 10

17 GS0811
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44,

45.

46.

47.

48.

In a cylinder, if radius is doubled and height is halved.then what happens to the curved
surface area?

(A) Halved (B) Doubled M Does not cliange (D) Four times
R 2 meeTulled, <y @@ WLkarEEIUL (), 2 Wb urdurs G®D&EsLILLLTe Bigem Lol
GTETTEUBLIT(HLD T .

(A) ufrg‘;]u.]rr@Lb B) PmuwvLmsrgd (C) wrorg @nmsen (D)  pre LLRSTEGED

The length of side of a rhombus is 5 m and one of its diagonal is 8 m. Then what is the
length of other diagonal?

(A) bHm B) "Tm d 6 m D) 8m

R sTUEGITSSen Lssgdlen Bard 5 1S, =igen ¢p(m epenavedl1_sdlan Berd 8 15 arafldy =ipen wH@mm
ppenevelllL gdlem Bemb wimg)?

A) 58 L ® 18 ©) 618 D) 8.5

A, B and C can complete a piece of work in 24, 6 and 12 days respectively. If they work
together, in how many days they will complete the same work?

(A) 1/24 day (B) 7/24 day d 24/7 days (D} 24/11 days

A, B‘LDH'JQUL'D C aanuauiisdr g Camamu (piyés wapCu 24, 6, 12 pr st a(iéss Sareraur
crafled, Gz Ceumeaens HNEUTHET DjenaT6L(HLD @Gmswr‘r_sg Qaigl pyhs THEMET B GET
CaeneuliL(HLD?

(A)  1/24 prér B) . 7/24 ‘r_F;rre‘i'r - (C)  24/7 priser (D)  24/11 prisér

12 men complete the 2400 sq.m ploughing work in 10 days. How many men are required to
complete 3600 sq.m ploughing work in 18 days?

wf " 10 men (B) 15 men (C) 18 men (D) 20 men
2400 &..5. flwgeans 12 Gausmawwr_ser 10 pmsafld 2 (g apyliui. 3600 #.18. flasms 18 pm_safld
o (peUBDH G eTHBemar Geuenewml 6T Caaneu ?

(A) 10 myls6r B) 15 sy ser (C) 18 gy aar D) 20 sy a6

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in
11 days. In how many days, 3 times the work can be completed by 8 men and 6 boys?

v(d 21 days (B) 18 days (C) 24 days (D) 36days .

2 gyamaer, 1 dgeursar Gaipg @@ Ceuamanieanear 14 prigefld gpulium 3 y@redr, 8 Ameurser
Gembgl, 216G CGeamaenw 11 prisefle Geaig @ulur aafld, Gs Gurd epemy Lm_nsj@
Geuamavenw, 8 gy, amae, 6 Ageutsar Going asgsenar Briseafle GFlg wprylur?

(A) 21 priser (B) 18 priser (C) 24 priser (D) 36 prliser

19 GSo0811
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53.

b4.

Find the next number in the followiﬁg series

4,69, 135

m{ 201 B) 223 € 19 O 174

Aetraur(pid Gemfled (RSG5 eu(BHLh CTEITenenT STeim s

4,6,9, 134

(A) 20% B) 224 © 19 (D) 174

Consider the following statements :

Assertion (A) : Scholars distinguished a culture midway between Palaeolithic and

Neolithic called Mesolithic.
Reason (R) : The chief characteristics mesolithic were the stone implements used

were extremely small and made up ‘of Chaleedony and silicate

instead of quartzite.

Select your answer according to the coding scheme below

{A) Both (A) and (R) are false

{B) Both (A) and (R) are true but (R)is not the explanation for (A)
« Both (A) and (R) are true and (R) is the correct explanation for (A)

D) (A)is true but (R)is false

Epae cursSLEIGEemeT H6af]

SaHm) A" Lienpl &haresAnel o spsrasdh@b GarDul L prafls srosamg
e abarad eren iHlesradr Geumu (s dlenment.

smranrd (R) : QaLsspaTagilen (pgean LSTUTES SHSLLHUOIRT Ly SE&D&EhEEL

vdlers Bes smuapeanw Qeustrenlp wenfls s0@ID WLHMID WWawTDH F&EIL 6

et Lgib Gareme iaey fblw oerellevmen shamelladr gu@h.

eﬁle'pé;aseﬁnL GhuPsmer Qarar(® sflwrer sflenLemw CHiE6SHESaLD.

@ (A wppo (R) Grando seim

B) A wogd (R) sfl gyama (R) ereénug) (A) eflar sflwimen sryanmd e

(C) A vopb R) sfl. (R) eremug) (A) eller sflwmem smyemrbd smesr

D) (A &l sy (R) seum

21
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55. Match the following :

(d) Na a;ld K - (1) Obtained by electrolysis of fused salt

(by Cu and Ag — (1) Occur only in native state

(©) Au and Pt — (i1 Occur both native and combined state
(d) Na and Ca - (iv) Reducing agent in metallurgy

(e) Al and Mg — (v} Occur only in combined state.

W @-»m -G ©- @-0 ©-

B @-Gv ®-0 -w @-) E@-W

G (@-3G) ®m->G) W~ D-Gav) (@©-0

D @-G) O»-G@ ©@-0 @-  (©-G)

Cummss S :

(a) Na wpmw K - () 2@dwu ey Blaamhugssald dalsdps
(b) Cu wpg Ag - (i) seflgs Hleneuile i Hibd denL &S ng

(c) Au wpgo Pt - - (i) sellgs whnod C&r’rﬁg Flencuilsy Slen_&&mg
@ Nawpgb Ca = (@) eCarsedudd @@és T

(e) Al wpmb Mg - (W) Geips Hlenqulh b HC0 s sdng).

Ay @-v G- @->0 D=0 (e) — (iv)

B @-@Gv O-O -G, -G (-

€ @-0 O-3>G) Qe @D->Gv) (-0

O @-@w M- @-0 @- -

56.  Which of the following 1s/are wrong?

L.
IL
III.
(A)

4

Mg,C, on hydrolysis gives acetylene

Be,C on hydrolysis gives methane

Al,C, on hydfolysis gives allylene

land II (B) Il andIIlI

I and III (D) 1,1I and III

_' 9 emar(melreuHmIET FeupTaTeneu ergl/ereneu’?

I
IL.
III.
(4)
©

GS0811

Mg,C; Bombu@ly i pg oS geSamans s

Be,C frmpu@iy sien bg) bsGsmer Qeuafludi@ib

Al,C; Brmpugliy SieLbg dedmaenans S(Hib.

I opmid 11 | ® I wpgi I

I wpmis 111 @) 1,1l wppid 11

22






60.

61. -

62.

Match the following and select the correct answer
(a) Tax revenue _ 1. Provident funds
(b) Capital receipts 2 Taxes on income and expenditure
(¢) Non-plan expenditure 3. Sales tax -

(d) Value added tax 4

Interest payments

(a) (b) © @

@ 4 3 2 1
®) 1 3 4 2

2 1 4 3
D) 2 3 4 1

Wemeumeuameupenpll QUTBSH sflunar eflen_epw Cs ey Gawis

(a) eurfl eugmeumil 1 aU(pEIETe enaulit) Hlg)
(b)  epeasen eumeumL 2. au(Reuml opmib QFae| Bsmar eufl e
() Alflever Qsoey 3. efmuien e cul
(d) Aoy s igw eufl 4 el g QT SHiHeh Her
() (b) (c) (d)
A 4 3 2 1
B 1 3 4 2
C 2 1 4 3
O 2 3 4 1
The National Statistical Commission of India was headed by
(A) Monteck‘Singh Ahluwaliya d C. Rengarajan
(C) Raghuram Rajan : (D) V.K R.V. Rao

@ bdlurefler Gl yereafl efleur < enemriib @leurgi seveeniouiled ianwhbEmhsS)
(A)  wran@& S @eumedwir (B) & Qrrspmgen
(C)  1@omb grggen D) &N.Ca.zym.efl. gmen

The structure of Indian Financial System does not include
(A) Industrial finance (B) Agricultural finance
(C) Development finance d Deficit finance

Qﬁﬁm B apenpullen sLLenwliy @senen aeimﬂ_é;é]mgd‘aebsu 7
(A)  Qsmdd Hé ®B)  Gevermar fFl4)
(C)  euerdfl H4) D) ubprsEemm Hlb
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63.

The MGNREGS differs from other poverty alliviation measures in the following respects

I It focuses on income generation to the targeted poor.
1L It 1s built around the notions of citizenship and entitlement.
III. It facilitates disclosure by means of regular and social audit.

I\ It operates as per the directions of the State/Central Governments.

(A TandIl | & 1 and 11l

(C) landlIV (D) IlandIV

MGNREGS Ap gpew féen S Lrisefadinhg Spssamr_ elgsdld Coumu@Bdng.

L. MGNREGS ghlul L genpsatien eumeunuienar 2iflafée b Crrésapanwig.

IL. £)8) Bl ESET HMID g UL 2 Mannenis Y FTTLTES damen() 2 (heurssiulL g,
III.  Qar_ihs womb sapsmu sararesiiugnsrar culfllipennsaner 2 md Qeidng,.

IV. - rfle wopbd wsdlu oirsaaiea amansesdams daudubng.

(A I wpmw I (B) 1II womn ITI
(C) Iwpgw IV O I wpmpd IV

“Justice D.P. Wadhwa committee was dppointed by the Supreme Court to examine
(A) Insurance schemes
{(B) The level of black money in the country
(C)  The functioning of rural development programmes
\M The Public Distribution System .
2 && BAlweannis e Gevg Spymicugnans hduret D.P. cungeur @p senodsiulLg)
(A) o ST (g SEL s
B). ' prlger sepLLL LeTsSar HaTey
(C}  dgrw euetiddg Sl kisafler dewaunBsar

(DY  Qumrg ANHCWLITE apenm

The Nutrient Based Subsidy (NBS) policy for fertilizers was implemented in India in

C(A) 1968 ' _ B) 1977
(© 1991 W 2010
GpSlwinelley o TrIGEREHTa 2a1’ | FesHlen g UL WSlarar wrefliug Caretens gdreu Ml e
(A) 1966 . B) 1977
(C) 1991 D) 2010
25 GS0811
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66. Which Indian city has been declaréd as the cleanest city in the ‘Swachh Bharat’ ranking

20157
(A) Kochi (B) Thiruvananthapuram
(C) Bengaluru M Mysuru
‘FHsD Qo GpAur Llgwedd aps @BSL peTD s Esswrer FETL ey 20150 Gsiey
Qe Hareng?
(A) Qarsd | (B) Hmevenpsyyb
(Cy  Quiiaenm ‘ (D)  enw@E,m
67.  Whois the chairman of the 20% law commission of India?
f Justice. Ajit Prakash Shah (B) Justice. Srikrishna
(C)  Justice. Katju . (D) Justice. K. Balakrishnan

@ndwureilen 200ug) FU1L &@(pellen enaaurm wmi?

(A) ﬁgﬁu@ 21885 ramdy agm (B) BHudl. i Smementr
©) BPud. slgme D) BPws K. urewdmepemran
68. Recently Union Government has decided to develop a city as spiritual capital of the country.

Which among the following is-this city?

A Ujj.ain : Varanasi

(C©) Nasik M Bodhgaya

DTS STOFHH 0 ADGE L SIFETETG Bl B lg & @@ persflaer s Lallss smapsTons
2 (HeuTd s (pig.Cleu(HagiaTarg). SDEHERT_UDMIET gl THS BETDTEHD?

(A) o @0 B) aurpawé
©) préls D)  ussswr

69. India’s largest telecom operator is
(A) TATA M Bharati Airtel
(C) Reliance (D) Aircel
@rgwuredlar Blal@uilu Gsranag GEmiry Flmpeuand 6rg ?
(A)  umr (B) umrd grie
©) Aeveowdndy | D) giQsd
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80.

81.

82.

Government of Tamilnadu awards Dr. A.P.J. Abdul Kalam award for a Tamilian for his/her

contribution to

(A)  Development of rural health services 7

%{ | Scientific, art and literature development, humanities and student welfare

(C)  Tamil literature development

(D) Development of Sports | .

sWOlps =irs Dr. ¢.9.Ca. é{l.ﬂg]d.) sombd ell(mens b g,L[S]IEQ@S@ Gisgmienpuile URisalllbhers
uprIGSDs 7

(A)  dgpmoliyp ssosmy Cobur@

(B)  sifleflue, same hmib Gesdlu eueried, vaflg CHWID LHHILD LOTERTEUT HaveT

(O sl Qesfu euerias

(D) elleveruin (hg Fienw apenGanmpmLd

Identify from the options the name of the Central government portal for students looking for

educational loans

(A) Vidya Vikas (B) Edu Care

d Vidya Lakshmi (D) Shodhganga.

ramaisefler shells sLem Qgm _fumean wiHu oigflean gaeud &@é&iﬁﬂ‘le,@Jﬂ)deT ergerlled 2 e,
m&umgé; seRrL_Dl&

(A) o alldw cflares (B) e Canrr

(C) gw el & - (D) Ceongamian

Which of the following day is observed as the National Statistics Day?
(A) dJune, 8 . iﬂf June, 29

(O dJuly, 1 _ (D) October, 5

ﬁgé;su'm_ e fard “GCaflu Yeraflwd Hanors” sigefssiuBEng?
(A) g8 : B) ¢, 29

(C) oo, 1 D) =&Cmuf, 5
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83.

84.

‘Pay Zapp' a mobile application to make digital payments was started by which Bank?
(A) SBI

(B) ICICI

| M HDFC

(D) HSBC

safliurdl  apad vewd Gesgss ‘Pay Zapp eengyh esGudl Gewdlome 6bHs curiidl

‘gleurdlu|eTeng|?
(A)  erev.Sep
B) gigég

(C) Gamé.iq.erid

(D) Qaps.erev.@.8

In the Australian Federal elections 2015 for the Prime Minister of Australia, who emerged
as winner?

(A) Tony Abbot

(B)  Kevin Rudd

E( Malcolm Turnbull |

(D)  dJulia Gillard

2015 yevdlGreflw LGl Gre Coirgadle %du‘é,]éqs&w g whpHflwre Geuphd QuboesT wrr?
(A CGumafl Gum | | |

(B) Useier mp

(C) mevamb GLieed

D) @9fwr darid

31 GS0811
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88.

89.

The Adminisirative Reforms Commission of India was set up on 5 Jan. 1966 under the

Chairmanship of
(A} K. Hanumanthaiya
(B H.C. Mathur

(C) G.5. Pathak

M Morarji R. Desai

1966-1b cpain(® smareufl Srusar 5-10 Csd FHLGSSOLLL BEHL Hicuts SHBmss apmamusddn
st |

@ K aoguoppiun

B G

©  G.S. ungsé

(D)  Gwryrrdl R. Caami

“The Supreme Court in the Indian union has more po'wers than any other Supreme Court in_

any part of the world” — Who said 8e?

(A) S.M. Sikri
M Sir Alladi Krishnaswamy Ayyar
(C) .M.C. Setalwad

(D) . Justice Kania

‘@B msdugBen o ss foapd ewddr chg priugier 8és fwapsms oILamd i
SIHSTTID 2 enL_ WG &G0, @Gheu@ g Hlwieud wmi?

(A)  ereiv.erid. S

(B) & sidweomy é\@si@mf&eu msl o

(C)  eb..0scbeus

(D)  pHud araflwim
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93. Match List — I with List —IT :

(a)

(b)

(c)

Y

(A)

(B)

2
1
2 4
3

(D)

Laws

The Banking Companies
Ordinance,

Special Bearers Bonds
Ordinance

Unlawful activities
Prevention ordinance
Terrorist affected areas

ordinance

@ ®» © @

4

3
3 2
1
4

1

1
4
3
2

Ul igwied I-gp uiiiquidh II — o 1er Wummégis : |

(a)
(b)
(e)

G

A)
(B)
©
D)

GS0811

FlLIb

Ul G(PLOTEIEET B GLE])
FLLLD

ol Genemrapl
LSSITEIS6T SEUST FLL LD

s & ypbLrer

BL Uy SenEEMeT S(H&EEGID §LL LD

Eelljeurdlsemmed

umlssUul L LGSlaer ieusT sLLID

(a) (b) (c) (d).

4
3
2
1

GO = = N
B = R W

1
4
3
2

Years
1. 1966
2. 1980
3. 1984
4.- 1981
QU (T L_M&e
1. 1966
2. 1980
3. 1984
4. 1981
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94. The Protection of Civil Rights Act came into force on
(A)  19th December 1974
\3( 19tk November‘ 1976
(C)y 1gth December 1975

(D)  19th November 1977

Glgeno 2 Aamwaer LTgsTiY LD S pal&EE Caratr(h eugliut L Brer
(A) 194ebur1974
B) 19 peubur 1976
(5 19 gabur 1975

(D) 19 peubur 1977

95.  Who one of the following persons is the ex-officio chairman of the Rules Committee, General

Purpose Committee and Business Advisory Committee?

M The Speaker

(B) A member elected by the house
(C©)  The Deputy Speaker
(D) .. Amember'of Ruling Party
QemeumLeupeT ereulm  @qreul, elfapeopasdt @, Curgy GCEmssmhsdr Wdgrer @Gp, Uew
Camreneis @ A weuhder Lised cuflgsemeaeur peuT?
(A sumpmusT
B)  soLwLTe CaipAs®EsILLL 2 et gest
(O) geoar suTETLSET
D)  peprsté o minSent e
r

® 37 . GS0811
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96. Match the following — Establishment of states and choose the correct one :

States
(a) 36*h Amendment | 1. Goa
(b) 13t Amendment 2. Manipur and Tripura
(¢) 27" Amendment 3. . Sikkim -
(d) 56* Amendment T4, Nagalanc_l

(a) (b (©) (d)
3 4 -2 1

.(B) 1 3 4 2

© 2 3 1 4
o) 1 2 3 . 4

. Semeumeuaneudma wmflekiser senliLg @flss sfitirareans Caotey Qalis.

Lombleoriiseir
@) 36 cug S AmEBSD 1. Garaur
() 13 @.@ S mssib | 2. wafliyf & SAugr
@) 27eug S iz 3. 8sA
B 56 os Edmss 1 prerenpg

(a) (b) (©) (D

(a) 3 4 2L LY
B 1 3 .4 2
€y 2 3 | S
@ 1 2 3 4
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97.

Which of the following are major features of the constitutions of Ldkpal and Lokayukta as

recommended by the Administrative Reforms commission?

@)
-«
©

(D)

The-y should be demonstrably independent and impartial
They should compadre with the highest judicial functionary in the country
They should be directly accountable to parliament

Their aﬁpointments should as far as possible be non—political

1and4
1,2and 4
1,2,3and 4

None of the above (or) 1, 2 and 3

Brieurs ETHmss peammwugsrd ufibgienr GsOwnn L Seawlyserrar Corduned  wHDILD

Corgyusgnetlan (wasdr eSrm wHmb wase APluTeTT) s LTS SDsEMTL6uDDIET 6Tg)

ETeT nMeyh?

1. FenaflFaFunga]d LTTULlSomn apenpullaid Caueduise
2. BT 1g.60 2 FebdlwarmsHlen ewdum@aEnL e Ul iuL 6
3. ungn@wmmgﬁﬁ)@ u@maﬂé;a;és Galg WEUTSHET

4. Sjeunaeng) blwiesid <rflue sTITSUTY B)(Hés CouamHib
(A) 1w (w4 -

B 12w (@Eb4

(C) 1,2,3wl(ho4

(D) CGuhaar ageylicans (=) 1, 2 b Hib 3
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98. Identify the numbered substances in steps of Glycolysis
Glucose —> (1) —> (2)—> Fructose 1, 6 bisphosphate

(A) (1) is Pyruvate (2) is citrate
(B) . (1) is Glucose-6-phosphate (2) is pyruvate

M (1) is Glucose-6-phosphate (2) is Fructose-6-phosphate
(DY (1) is phosphoglycerate (2) 1s Glyceric acid

SemersGarallfley uy Hlamaasaie eramsamme @hlasiu’ L Geudlu@Qurersamaend sam@LAly
GEpEGamey —> (1)—> (2) —> SUréGLmav 1, 6 WevumavGul

A) (1) erapGeul (2) ALGrl

B) (1) EepGarev-6-urevGul (2) eumGeul

€©) (1) genGarev-6-urevGul (2) «sysGLmen-6-LimevGu

@ (1) urevCGurdefizGr (2) dleflafs iflab

99.  Consider the following pairs :

L. Thallophyta - - Algae and Fungi

II. Tracheophyta - All vascular plants

ITII. Bryophyta - Liver worts and Fungi
IV. Pteridophyta  — Mosses and Mushrooms

Which of the pair given above is/are correct?

(A) TandIV  TlandI
+«(C)  TandlIV (D) 1I and III

Hetreu(m b @)enemTaEeneT &MHadl Qamers :

I snGemren L - OETEHEET LDHMID LY EHED EHEET

II. g-7&HCuirepu LT - GUITE GEVMT FFEHEET 2 DL LI DeNEBHS| STEUTRIGET
ITII.  YespCumenuiim - SleuTGeum_e HmID L @EhanEh&HaT

IV.  QufiCG menul L - LOTGV&ET LODMILD & TeTTeHmaaT

CuhEHlb L Gamansati ey &il?
(A I wpyon IV (B) Twomwbll
(C) TuwhmbIV (D) IIiopmd I1I
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108. If a colour blind woman marries a normal visioned man, they will produce
(A) Normal visioned sons and daughters
d Colour blind sons and normal visioned daughters
(C)  Normal sons and colour blind daughters

(D) Colour blind sons and daughters

Bns@E@mlG dusmrerflin@d, @uidiimer urianel Caram. pelih@En Smneand BLbsrD, Geumser
QuDADH&E@D

(A) LOSHEMSEET LOHMLD EETEET G)UIedL mam urrr'rsme‘u asu}l_meur'réeh

B) wsdger FDEGHLOSSM@L 2 MLWeTEET  LOHMD  bEEGET  Guedurer LMo

8 ehL_WIGUTHET

(C)  adrger Queumer UTTenel o el Weili&eT omb waasdr  flng  @GELlddsdaemo

O_EnL_LLIGUMTHET

(D)  aEan&dT LHDHID WaETEET HlD&éE L (Hé Seeno 2 oL ILIeUTSHET

109. Cretinism, myxoedema and goitre are related to the disorders of the

(A) Parathyroid gland % Thyroid gland

(C) Adrenal gland (D) " Pituitary gland

R 1q aflai, LQS'SG:EFITGFLQ.LDTT WHMID @Pe EUPSGIEme HHW CHreTrmisHeT @HeanL 6 GFm e iig)
(A) Gug‘rrsmg;grruﬁ@ S B) esrmi s .

(C) =i Femed @ (D) Al A spad

110. Which one of the following is NOT correctly matched?

M Anopheles Stephensi —  lLeishmaniasis
(B) Glossina Palpalis | —  Sleeping sickness
(C) Culex Pipiens —  Filariasis
(D)' Aedes Aegypti - Dengue fever

Sp&aaTLeunmieT Saunrs GUmESSULIL [Ty oTE?

(A) oG Dedlev cuie@uendl  — eSeruB el wmlen
B) darflalur urdumadien - 2 n&& Grmd
(C) Swadev epundwesen — WTenanasra GHm
D) grdvrglien - Qi SmliFFe
GS0811 44 w

. . it



111.

112,

113.

The list of coded instruction in computer is called

Program (B) Algorithm
(C)  Flowchart (D) Application software
serflLQurhluled yenanrsaflen Ggm@LiLy
(A) e - B) Cpflgpenm
(€C) Qswe eu O b (D) vwenuT { QuenG@umaper

Choose the correct match :

List I ' List IT
(P) Fault ‘ 1.  Stromboli
(Q Fold 2.  San-Andreas
(R) Earthquake 3. Himalayan Range
{(S) Volcano 4, Epicentre
5. Weathering
6. Exfoliation

(A) P-1 Q@2 R-5 S-6
B), P-5 Q6 R-1.  S-=2
 p2 Q3 R4 Si
M P-4 Q3 R-1 8S-6

shlurs Qurmpdlwueinenn Casrhshiés :

i igued I uligwied IT
(P) Jdarey 1. supmoGumadl
(Q) gy 2. FITEHT D3 GTL_ITGT)
(R) yelldimey 3. @oueag QT
(8) erflwane 4. = dflitey enlowild
5. aralloes Hosay
6. GQumenp Hésb

A Pl Q-2 R5 S8
® P5° Q6 R-1 S-2

w P2 Q3 R4 S-1

® P4 Q3 R-1 S6

The major temperature fluctuations.in surface waters of the tropical Eastern Pacific Ocean
is called as

(A) Temperature inversion (B) Convection

(C)  Thermocline # ElNiro and La Nina

Sjwen warrLa Hypse udlQs sapsdy Cupurtnia ghu@ib Geuliu gpmg srbeysarrang Geusumm)
Qe p&sILBED g ' '

(&) Qe @& LTHOL @) Qeutiué seand

(C) QarGurélenerar (D) eéd BGanm HMID eor Blewm
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114. The portion of incident radiation reflected-back to space from the planet is called

(A) Atmospheric windows w Albedo

{C) Rayleigh scattering ' (D) Law of scattering

@flws sfieieflar om ueH Grduafiifer gpab aiartlauaise Smud @@iuuliufeug @Gusurr@:
AenipssliLhAng _

(A)  euefloerte sarareaer ‘ (B) é{@b@u@l_rr

(C)  yrCGe epaflé Azmed ' D)  qefis flma el

115.. A major diamond mining centre in Belgium is
(A)  Aalberg (B) Aberdeen (C) Aabenraa w Antwerp
QuegluisSledr 2 eter @@'ﬂggrrm BT EF&HITRIGLD
(A peCums B) =Cumger (C) = Queamn D) e Claul.’

116. Rank the given soils of India in descending‘ order in terms of their area / extent
(A) Red soil, Alluvial soil, Laterite soil, Black soil
(B)  Alluvial soil, Red so1l, Laterite soil, Black so1l
(C)  Red soil, Black soil, Alluvial soil, Laterite soil
Alluvial soil, Red soil, Black soil, Laterite soil

Gar@RssUuC Herar @b e cumasaamar LFLiLereilar g LiLenLwlid Ginhi@ auflamsiu(isgis
(A)  Gsbwer, sudrd e, Gl Lanyi e, sl wewr |

(B)  euemr_e e, Ogibloar, Geol_L_any weir, silad wewr

(C)  Gebioe, aflgd wai, cuem & e, Gevl_Lany DT

(D)  eustm_co Loamy GsbineT, sl wer, Geol L ey e

117." The planet which is known as the ‘God of War’
(A Mercury (B) Venus d Mars (D) dJupiter

‘GuITT &LeyeT erarmenpdsliu (Do Camer
menLp

(A  ygen (B) Gavdrafl (C) GQasusuml (D)  eflwimpeair

118. The ice-crystal theory to explain precipitation was propounded by
d Tor Bergeron (B) E.G. Boven (C) Richl (D) Davis

wenip eipaflen efleuMss LierilliLig & Carlurl a2 (meunddlwieur

(A) L Quidiper  (B) @6 CunQeur (C)  AéCladd D) GLafeb
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119. Consider the following about scientific dating of the pre-historic period : Choose the correct

code.

I

I1.
111
IV.

g

(©

The technique of radio-carbon dating is based on measuring the loss of carbon in

organic materials over a period of time.
Another dating method 1s known as dendro — chronology.
Palaeo Botany is the analysis of prehistoric plants.

Palacography is the study of ancient writing

I, II and III only ® LILIIandlIV

II and IIT only (D) III and IV only

UTQMDMISE Wphegw stagder Sibledue Sgliumide stagms sansdBoude bl m0

sapenm seual : gflwumen smpenp CarhGSH :

L

IL.
1L
Iv.

(A)
©

@@ GOILALL srasdhe Wer o uflremt G]un@l;a;mfisb CTHS < eTe|HE &ﬂmm.@mm;bgmmg
qeTums  SgliLenL unss darean(h sresas sansdin. apepCu  GrgGur-sriuer
(LPEN DTG LD. '

oo wpern QLer_Grr sradsailiy apap erarili(héng).

Qzed sreureRich QST ST eUenHseneT c,ﬂxcbu'_leﬁ Qeleug).

QzsraGea(pds (pan LIPRISZTE 6T(9S5SISH608T UTHEGD (PEODUINELD.

I, IT wihmpi 1T wi_ G @B T, 1L I wpmes IV
1T whgs 11T wl@ib (D) I whms IV wi @i

120. Which among the following correctly matched?

"4
(B)
(©)
(D)

Kol - Madhya Pradesh
Chhutia - Nilgiris (Tamil Nadu)
Kotas - Little Andaman
Jarawas — Assam

Spsamsunper erg #fwins QU erarg:?

(A)
B)
©
D)

Gamen - wgHw SrGsain
G - poditer (s0ppm6)
Gar_mey - Sl 1g 6 D BFLOMEST
QTITeuTED - BIGVEVITLD
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123.

124.

Identify the correct order of events of Muhammad-bin-Tughlug.

(A)
(B)

<

)

Transfer of capital, conquest of Nagarkot, Reform of Token currency, Taxation of the
Doab

7 Reform of Token currency, Transfer of capital, Taxation of the Doab, conquest of
Nagarkot
Taxation of the Doab, Transfer of capital, Reform of Token currency, conquest of
Nagarkot

Conquest of Nagarkot, Reform of Token currency, Taxation of the Doab, Transfer of
the capital :

\Gemeimeuaraupmled (pawgl 96 graeans sre Blépsdsamer sra auflanFudd HepLLTETD STers.

n
®)
©

D)

senepaT LIHOWL, BrafGsrn. umL@Quw@ly, semewrer praww Sifmssn, GCer oplr Ba)
cuilallglLiLy

sienLwmer prew STHmEsD, sowbsT wrHon, Gasr =l 5 euflaldig, prafCGsm
uent Gu@ay

Ger <pu Bg eufleldliy, semebsT WIHDL, el WiTer srewrul &rdmessn, prafGari
UenL Quwi@iy

BrarGat uenLGQu@LL, e wimer prewmu §irdhesin, Car 't Sg eufleldliiy, saopsT
OIHmD '

Consider the following relating to Babur.

L
1I.

o

(B)
©
(D)

The Autobiography of Babur is ‘Babur Namabh’

It was originally written in Persian

Only 1 is true

Only Il 1s true ,
Both I and 11 are true
Both I and II are false

umTLmEEG OsTiymLw &G Qer@ssLl Ddrarens &(mEs.

L
IL.

A

(B)-
(&)
@)

urufler swefleng ‘LTUT BIOT L@

igeflen apa Bred Lmpés Quomflulila 2 drearg

I ol GGw sflwurgw

[T ol GG #RlwmED

L, I1 o8l @resr (o sflwimgn
L. IT g flw @ e seupr@Ld
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131,  Identify the statement which is wrong.

(A)

(B)
©

The modern method of writing with coma, semicolon, and full stop are the
contributions of the missionaries

Robert De Nobili and Caldwell enriched Tamil language

The missionaries introduced Printing Press

The missionaries spread the Gospel only through English language

Qerhisaslul_{Reren sursdunseaie Seunrar eunsadiusens el WTerD & (H&.

(A)

(B)
©
D)

paian  enpsg  pepwrer &om, QelGsreer, wphmuyeel  eraruenes  Wsisentlaaie
BEGIETENL. <5 LD '
rrul g QEmAedlujib sme(h Geucvgid sullenyp CurDl cuaTiTggemt

Weipanaer iFs Qubdisang Bibdwuireile s igert

Wegerfaer mHGawfenws pmidle errgﬂuﬁleb UL Qes

132. Consider the following Reason and Assertion and choose the ¢orrect answer from the codes

given below :

Reason (R) :  The diet of the early Tamils was not very different from that of modern
times. Ghee played a conspicious partin the diet of all, it fetched a high
price.

Assertion (A) : Ghee was used freely both by vegetarian and non vegetarian Avur

v

Mulankilar and Purattinai Nannaganar spoken of the use of ghee.
(R) and (A) are correct, (A) is the correct explanation of (R)

(B) (R) and (A} are correct but (A) is not the correct assertion of (R)

(C) (R)1is true but (A) is wrong

(D) (R) is wrong but (A) is true

&G Qar@ssiul_(peten ampemd wwHMD elanEsgas smsHa GCaram@®, aflurar efla_ew
Gl SGsefellbbz) CoMHEs6-

anranid (R) 1 uamenLw bl aseflan 2 amreyll LWPSSD,pelan STaGans el WL L e,

QB G WPEEL 2 aeunas mandg wasEED LusLBdan. QshE s
ahlenev dlanL_555,.

eflaraain (A) © engeuld LHMID Mensald 2 amgnld HmaTsg WaEHEHD GBl uweTLhsdlenT,

GV
B
©
®)

GS0811

QLT ppBREPTT HmD Lpsdenant pemanmaamTi Gpdiuler Lwenum ubl
Hleopw Aeliflsener er(pdli|crerei. |
sTred Hmid eNersaapd &, arransdlern clarssb efluns Gar@ssliul (Hereng.
srramp sflerdaspb & BLenre sryansdler ellatégan sflwurs Aar(&slULefdaama
aryemTd &l eSlen&aid seum)

STTERTD Feum) eSlensaLD &l

52 o












143. Alex invested an amount of Rs. 8,000 in a fixed deposit scheme for 2 years at compound
interest rate 5% per annum. How much amount will Alex get on maturity of the fixed
deposit? .

(A) Rs. 8,600 (B) Rs. 8,620 ([) Rs. 8,820 (D} Rs. 8,840
ET(HEEG 5% eredin Fnl (5 eulig Ui, 2 Sy arhHiEEna@ 2 Gade sramueu @p. 8,000-5 HrhsT ensuliy
L g gl dedapmi. b5 WwHdH wdHrey sie b Quripg, SGosa dunb GgTams
wmg? .

(A) em.8,600 (By em. 8,620 (C) em.8,820 (D) . 8,840

144. The difference between the compound interest and simple interest on a certain sum at
8% per annum for 2 years is Rs. 240. Find the sum.

(&) Rs. 35,000 (B) Rs. 35,700 & Rrs. 37500 (D) Rs. 40,000

@remlh B EHHE, AATHEG 8% ey is555d, m Csraswdr st (. ULty WLOHMID
et iq siendE Giens Guw 2 amer eflgHwimed ap. 240 erafled oibhg Camansudlen WSILL 616G ?

(A) a5 35,000 B) @ 35,700 (C) @ 37,500 (D). @ 40,000

145. If the rate of simple interest is 12% per annum, then find the amount that would get
interest of Rs. 6,000 per annum.

(A) Rs. 82,000 (M Rs. 50,000 (€) Rs. 72,000 (D} Rs. 45,000
&G 12% safl eur . eiasHd ap 6,000-1 epran(h el iguins QarhE@n darensan s sras.
(A) @5 82,000 (B) @p. 50,000 (C) . 72,000 (D) . 45,000

146. Three solid metal gubes, whose edges are 6 cm, 8 cm and 10 cm are melted and a new cube
is made. Find the length of edge of the new cube.

m 12 em (B) 24cm C) 20cm (D) 48cm

6 Qg.15., 8 @15, 10 Qe.18. uaapdren ppenm 2 Garagsreamean Sa@TD saregmadt 2 HEsUULE ¢
U sensgimd Geiwiu@dpg erafléd yHu saisgirsdlen Lassden Hemb wirg?

(A) 12Q@s.85. (B) 24Qs.85. (C©) 20Q&.16. (D) 48Qs.5.

147. Find the number in the place of question mark :
21, 25, 34, 50, ?, 111, 160
(A) 86 B) 72 '(A 75 D) 59
Caerelils @Hush L @)L 556 eu(HLD eTeiTanamTs SHTes s :
21, 25, 34, 50, ?, 111, 160 _
(A) 86 By 72 (C) 175 (D) 89
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159. An example of commonly used herbicide is

(A) p, p' —dichlorodiphenyl trichloro ethane
d 2, 4 — dichloro phenoxy acetic acid

(C)  Benzene hexa chloride
(D)  Naphthalene

Qurgieuras LweTURSS LRI Senar&bamasl]

A) pp —o_@CamCrmenL ienard yanr@GCermCrm m5Cgen
By 24— Gd)L,@GﬂTI’I’@D"IT Senmdedl & 1q & =itflevih

(C) Guenfer Qapasm @Carmeny(h |

D)  prllgden

160. Match the following :

I IT I
(1) Thiamine (a) Cheilosis (1)  Pellagra
(2) Niacin (b) Polyneuritis (11) Glossitis
(3) Riboflavin (c) Nicotinamide (i11) Beri beri
(4) Biotin ' (d) Antipernic (iv) Hyperestheria
(5) Cyanacobalamine (e) Coenzyme R (v) Pernicious anaemia

@ D-@-v @-B=0) @-0-0 @W-WD-G) G)~@C-0iv)
DH-b)-@) @A=0-@ E-@-3@ @W~E-Gv) ©6)-d-W

€ @O-@D=) @-@-m -®-3Gv @W-(-3i) G~-E-30

@ @D-@=) @-@-G E-WD-v) @D-(a)-0 -0

QU (SIS :
I II ITT
(1) swdan (a) EGeonélew (i) Queovasyr
(2) Budfer (b)  wrelfluyfiigev @)  @Gearfliyav
(3) ACGumYerelen (c) HCarligemeninl) (111)) Quf Quf
(4)  uGumgelr (d) edrluiels geeno (iv)  @apuGyavdAur
B) swenCsrumaSien () Qeeaw Aprd-R v) Quireflflwued Qués Cerens

@ DM-@- @-b-@) E-@-0 @W-d-3Ga) ©6)-e-Giv

@ @O-bO)-3G) @AD--0 E-@-) @W-E©-v G-W-E

© D-@W-@W @-@- E-M-Gv) @D-C-3) G-~
D D-E@-w) @-@-1) E-@D- @D-@-0 () (b))
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161.

162.

163.

The Indian Constitution describes Legislative Relations between Union and States in
Article from

W Articles 245 to 255 (B) Articles 256 to 263
(C)  Articles 264 to 267 (D) Articles 268 to 276

abg dfsailar Sip Qbdw siTfluweniy LSS LHnL wrhle &L Fgmpuilar 2 pejser LHb
GALSGEEDE?

(A)  fdlaer 245 — 255 (B) &ffsar 256 — 263

(C)  eflser 264 — 267 (D) AHsar 268 — 276

Which of the following is/are incorrectly matched? Select your answer using the codes given
below

1. Credit creation _ — Reserve Bank of India
1L Commercial Bank - Accepting deposits

III. Reserve Bank of India - Control of credit

IV. Quantitative Control — Scheduled Banks

W Iony ®) IandIl
(C) ITandIV (D) TandIV

Gemreumeuareupiler erenau  sfwns  Qurmhselama? &G GanBsaiul @erar  GHluiGeeaner
Lwenu(ss o diser eflenLanw GaiEASHES

I &G 2 (HEUM&SLD - Gibdlwar fleie. o)
II. euenfla; eumbidlaer - eneullL|geneT eFmés Clamememnge
III.  @sdwen famey curid - &Leit SO (NGS5 e
IV. ed@menterey sL_HLrium_ (B
(PENMEET - v guia euradlaer
4) Twlpwo (B) IwpmwoII
(€ I wopyd IV _ D) I wpmo IV

The phase of rapid growth of population in India falls
(A) between 1891 - 1921
(B between 1921 - 1951
between 1951 - 1981
(D)  between 1981 - 2001

@sdureiled ellepyeuran wéaar Ggrens auerméd gHUL LG QéaTwns s SEd o@w
(A) 1891 — 1921 sy em(Raaien
B) 1921 - 1951 syan(said
(C) 1951 — 1981 gy eam(phsaflen
D) 1981 — 2001 syainBaeaia
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168.

'169.

Arrange the following sectors in India descending order according to the commercial energy

consumption

1. Household sector
2. Agriculture

3. Industries

4. Transport

(A) 4,3 1,2
G 3,4 1,2
© 3,421
D) 4,1,3, 2

auemflea 68 Barellean ougliuem e Spsaramid @g;lg‘,]u_l FlenmaeneT @meiE _euflensuded
auflengliLRSg)s : ;
1. @l gienm

CeuemmaimrenLo

2
3. Qgrfihenene
4

Curdgeurssl
A) 4,3 1,2
® 3412
€ 3,421
D) 4,1,3 2

“Indradhanush” introduced by the Central Government in August 2015 aims at :
(A) . Establishing a separate ombudsman for private sector banks

(Bf Reviving or revamping public sector banks

(C) Reviving non-banking financial institutions

(D) Introducing new banks in rural India ,

sl 20156 wsSL @irend o flepaliLREsIUCL ‘QbdTsien’ HI s Coréseath
A)  seflunt gienp cudlsener Hiieudlaa safl awlmu ghubsseug

B) OQurgs Ziewn cutidsmer CubLRSSIGUE SiDwg Frepwliug

(C)  euindl gmym Bl Flmeuarisener B FrenoliLig

(D)  capas @pSumeler Y eubidlsener siflwpslubhEsieug)
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172

173.

174.

Identify the correct statement from the following

4

(B)
©
D)

Tiruchirapalli has been declared as the second cleanest city by Swachh Bharat in
2015 '

Tiruchirapalli has been declared as the second cleanest city by UNESCO in 2015
Goa has been declared as the second cleanest city by Swachh Bharat in 2015

Mysuru has been declared as the first cleanest city by “United Nations Organization
in 2015

Spssarsupniet sflurear apbanens seimls

AA)

(B)

(©)
(D)

Amsflyrieatell  pargens Grewiteug &Gsworer psD  arenm  2015-@  eveud  unys
Siflefl5gicmang .
dimalgrivearell  marSans @QUamirmeugl as&sswmenr  pagw  eren  2015-6  wQerenGam
2ifleils g emansy)

Gameur pa1Seng GITatTLmeug) S&Eomar BETD erar 2015 & aveud urys ylellsscmeng
DG (H BHTEDS (IPSETEUG HFESOME BaTD eTal P&dlw prHadr ganu 2015+6b iflells s arens)

Nobel Prize for medicine in 2015 was awarded to

I Tu Youyou

IL Satoshi Omura

III. William Campbell

IV.  Arun Bahl

(A) Tonly B LIIandIV
(C) 1Iand III only v L IlandIII
Grrue ufla 2015 w@aseussle Qalmas/ QeuTaense idlelsasiiu’ Hereng)
L Ouy

II. & GLrd upym

III.  efleedlwid CabiGues

IV, symeimr urane

A T @o (B) LI wpmbd IV
©) I wpmd ITT wl @Gib (D) LI wpgo 1T

Which country has come forward to help clean India’s River Ganga?

(A) Iran M Israel
(C)  Ireland (D) TItaly
@ndurelen skiens pHlan 55D el erhs BH (P subgereng ?
(A)  @oymer (B) QevGge
€)  Swrarbg D) gssmed
65 GS0811
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180. The Union Urban Development Ministry has selected 98 towns/cities from all over the
country to graduate into smart cities in five yéars. Select the town/cities not included in the

List from the following
(A) Coimbatore
(B) Dindugul
M' Chidambaram
(D) Erode
widu paEriym Guoburl { Siebsssh Brigd 98 parhismen (Eg,r'raqr Qag mbs yaT@sarte
amrjmrfo GubmiT. parmsans WwrpHlumbss @nédeapg. SpssaTLeupmidr ownmn  Eilg
Ll guwalled CargslivL TEms @gyrﬂm‘(&]&u’_la;
(A)  GsmubuggnT
B)  HanBisd
¥ (C) Asbumbd
D@ "G

181. The country that has become the first defaulter, among developed nations, on debt of
International Monetory Fund (IMF) on 30% June 2015

(A) China
(B) @ ltaly

!{ Greece

(D) Germany
2015, g 9en 30-& eueri&flua_pg srpsess@a IMF s_mear Qeaysss seufiu s sl a@?

(A) e

B)  Qssrel
© B
D) Ggiwed
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186. Tuyouyou of China has been awarded the Nobel Prize in medicine for developing a new drug

called
(A) Avermectin M Artemisinin
(C) Ivermectin (D) DParasitin

San priewLé Colibs g, aeaLU®GSE @bs wEbos s@rBlybsspans wnbsous Hopasrar
Coumue ufle euprisiul’ Lg.

(A) eunQ&gen B) yhngllslafen
(C) meunéiger D) umprdllgen

187. Article 25 of the Constitution of India guarantees
% Right to Religion (B) Right to Property
(C) Right to life (I) Right to equality

@A s rflweeniorifen 25-cug 6l o S5 reursweafiliLig
(A)  Fow o M B) Qerggiflenip
(€C) o8 eumgpd o Meanwd (D) swssal oflento

188. Which one of the following is not a formally prescribed device available to the members of

Parliament?
(A) Question Hour ) M Zero Hour
(C) Half-an hour discussion (D) Short duration discussion

LI T@h 06t (D Llleniisense e mauaieuhmier wenn F1ihe Smelurs @aoars Haawrs
@5 2m EhEE 0 DT 1p bo &

B®LILS! 615 ?
(A)  Gadred Gy (B) wyemw Crmb
(C)  ienqwanfl Gy efleumgid )] @Qjé]u_l &Te efileumgid

189. The National Commission to review the working of the Constitution was set-up in the year
(A) 2001 (B) 2004
© 2003 & 2002

- Srdlweenwll QEwdubin edssens prmu CaF s yenammld Sentd&Es L L ()
(A) 2001 (B) 2004
(C) 2003 . (D) 2002

GS0811 0 5



190.

Match the list -

(a).
(b)

(©
(d)

Fourth Schedule

Seventh Schedule

Eleventh Schedule

Eighth Schedule

(e}

3

(a) (b)
Ay 1 2
W 2 1
<€) 2 1
D 1 2
sRwTarens QUIEESES -

- (a)

(b)
)

(d)

(A)
(B)
©)
8

BTG <BIL L GUGHSmT
TLPTEUS DL L_6LEnHeRT
LSICarmyralg) St aiement 3.

GTLL_ UG <DL 6uenesT

(a)

1

(b)

2

(c}

3

(d)

{(d)

4

3

Division of Powers

Seats alloted in the council of states

Languages

73rd Amendment

SFsTr LY

rfleohsamausE @EER Aeiwuiue L @ hiser

@Lnrr@aaeh

T3 s L Hmssb

71
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193. Which of the following recommendations are made by the Administrative Reforms

Commission to improve relations between the political and permanent executive?

1.  Minister should try to develop a climate of fearlessness and fair play among senior
officers.

2. Minister should not intervene in day to-day administration except incase of ser\;ous
maladministration

3.  The official relationship of Secretary to Minister should be one of confidence of that of
Minister to Secretary one of loyalty

' 4.  Prime Minister should take special interest to arrest/growing of unhealthy personal ’
affilhations.
All major decisions should be briefly reduced to wr1t1ngs

VK 1, 2, 4and5 (B 1,2, 3andb (Cy 2,3and4 D) 1,2andb

Bieuna Frdmasacp <irflue womn Brksr Geup@uelar G Guuerer 2 pae GowLURSS

Spsaa eThg Ulbgenraamer O Fig) ceng) ?

(&)

S|OLFFTEET pSE dlarmsafien_Gw Lwiohm, wHmD GHTEMDIITER B 2 M&| CUETTESHD & Te
GLpene erUL (pwpdlés Geussm (b

Hlreura §1Gal eFpuHin ELDlu_II'E'xJBSGTﬂGb D|EPLDEFFTEHET g,sbeuuﬁll_surer ey, e flreurssHd
Senenll FoL Mg,

Qawier, emnasisEnsdlamGuuiemer a{gl;isusuaa 2 mey BOGEms LOML  efeseurs
Sfiq LiLienL_udled @méa Goustr(Bid

ammé&ﬁé@éﬁ@Luﬂmwm sapsopn 2 peflamen 5058 Siaufser g fpliys sauad Cogss
Geuar{Hind

S{enenggl pEE (plg.a|senaT (&SNS eT(psliL. GeuaHin

1,2 4opmbd B) 1,2 3wpmb5 (C) 2, 3wppbdd (D) 1, 2wpmyd 5
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194. Which is / are correct relating to the Tribunals?
1. Part XV of the Indian constitution deals with the Tribunals.

2. Article 323 A deals with Administrative tribunals andrArticle 323 B deals with the

tribunals for oth;ar matters.
(A) lonly
d 2 only
(C) Bothland2

(D) Neither 1 nor 2

Sriumumser Qgriuna sflwremeney erg) / eraneu?
1. @pdu eirfueeniuer 15-eus LEE Siuumukisamer elarsEAns)

2. efldl 323 = Hliens ﬁr'ruurrquéja;émm cflera@dng whmb el 323 =i, wHp STULTLIRISEET

GO HADES.
A 1lwol@o
B) 2w @b

(©)  1lwiopw 2 8w GrasrHin

D 1-b e LHMID 2-1b Bjebev
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197. Consider the following statements :

The Comptroller and Auditor General of India is responsible for the audit of the accounts of
1. The Union Govt. .

2 State Govts.

3. The governments of union territories

4

The Urban and rural local bodies.
Which of these statements are correct?
M 1,2 and 3 (B) 2,3and4
(C) 1,3and4 (D) 1,2and4
QrSureilen sepaanis samd@ LHNID gaflsms i siflser Spsar_ sansEsmer salbme Qsiub
QurmnYayéreneuiaer ‘ '
1. SE TSRS
2. omEle) <o [T &k &ET
3. wiesilwsetr 197G snisatlen ipsThIGH HeT
4, BaETULW, Srmoliyp whoh 2 ererm_& jepw iy se6r
Elpsad mmpmsmer amaSlad Carar() org Fluinears e sns?
(A) 1,2wi@bh3 B) 2, 3w’ G4
@€ 1,3wipind M 1,2w b4

198. What is the peculiar nature of the Indian Federation?

(&) = Equal distribution of powers between the centre and state

M Strong centre

(© Strong states

(D) Strong Local bodies

Engw gL m_Suller eNCanmssseaenLo eTemaT?

(A)  aww wrlle HrssErsE Gl Cu Fwwrs siflsrrd uksR
(B)  augieunar epowid

(C)  eugysumen e ser

(D) sugpeuren 2 drerm_ & SieoliLEeT
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199. In which one of the case, “Passport” is considered as part of personal liberty?
(A) A.K. Gopalan (1950)
(B) Indian Express Newspapers (1985)
(C) Arumugham (1953)
M Meneka Gandhi (1978)
ahg  eup&dled ‘Leysf B Gumeug seflwells sspdr o fawyrdar Asriiymiwgrss
SHSUILLLE? |
(A) g.Gs.CGamureer (1950) aupss
B) @pdwen erdeniGreav Aewidlgsmer (1985) eupse
©)  =pepsd (1953) apse

(D) Guenen srpdl (1978) cupés

200. Which of the schedules deals with division of powers between states and union?

(A)  Fourth
(B) Sixth
M Seventh
(D) Ninth

ameuhld L cusnemraalldy, LMBlbsErEEGD WwWHHL FFTRGSHD Lol Gu fsrrhaener
9RSE B i LeuenamT 6T ? .

(A)  promeug il L cusnemT

(B)  ypmeug L suenant

(©)  eyraug oL cusnant

D)  geugTeug L suenamt
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